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OXoite 222 21,000
OMaHZ bl 5,000
~THeH L THHHIA2RX S 3,000
SIMSEA HUBS AR Y2224
Hl 2,000
OXNHMMHUHLENH ZAHSEH AARA' Y,
70,000&  6H = 23 840
OAMAB Tl detd ZEA2=E
40,0008 » 6H = 154 3,600
02 5234l 9,568 6,604 2,964
Ol HBEANE HIRS 8,568
—CCTV 16,500& * 1691 * 12 3,168
— = A 10,0002 * 100H2 * 123 1,200
— Mol Xt 2 20,0008 * 6944 + 123 1,440
— Mo 2 A& &2 eIEUl 3ld
30,000& * 504 * 12 1,800
= 80,000& * 12& 960
OS=22ME sl Asldl(14) 1,000

_11_




O Eerd 2te| 1t

o«

o THoHolle =& Aot EHI

© O THoH O AL

SN I SRI(S) - NRAY - B sk als B RS2
0f 4 o8
202 O4Hl 3,600 3,600 0
01 =LA bl 3,600 3,600 0
OgHE =20 3,600
206 T2 H| 15,500 12,800 2,700
01 M=l 15,500 12,800 2,700
O=2XM 7 15,500
—PPO}FCH(1,000kg) 10,000& = 1,00004 10,000
—HIE 30,000& * 402 1,200
— Mot o 1,200
— 201U 2,000
-2 25,000& = 304 750
—=dis ¥ AEX 5,000& = 70K 350
302 Ol o2& = 5,000 5,000 0
02 QIZHOITHOH 2 & 3 5,000 5,000 0
OMoll=+&0 212t 5,000
Zx0l BEEAY 167,000 152,000 15,000
= 83,500
Al 83,500
307 QI2t0IA 167,000 152,000 15,000
L= 83,500
Al 83,500
06 283 167,000 152,000 15,000
O3=oll 2gAd 167,000
& 83,500
Al 83,500
Hol <l & X+ Jdl 425,680 220,000 205,680
Mol & X &Yl 425,680 220,000 205,680
201 Let2IH| 84,480 0 84,480
02 =234l 84,480 0 84,480
O3l =812 &)
6,750,000& » 128 81,000
OZ8 =8I & =&
150,000& = 123 1,800
O3lg =8 X KTEE3d AMEF=2
140,000& = 12& 1,680
401 A EHIL 201 341,200 220,000 121,200
02 Zeldl 331,200 200,000 131,200
Ozl S X+ HEIAY 2l 331,200
03 AIZ20i4l 10,000 20,000 210,000
O3l AS X+ HEIAS AL 20U 10,000
LEaS(MLorA 2te| D) 9,036,700 6,044,000 2,992,700
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A THE oM 2e| 1t

M HLBS (L OE B
el WRHHXS (el &)
_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0] &F o e HlE2
LHEHHXI = 3,105,700 0 3,105,700
Mg2e|dls 853 3,105,700 0 3,105,700
02 JISEE=2 3,105,700 0 3,105,700
01 JISNES 3,105,700 0 3,105,700
OlM-t&ells dE3 3,105,700
RSN 5,931,000 6,044,000 A 113,000
2002@ ==off ¥ EHSLloi=S+ XM &2 4,140,000 4,130,000 10,000
311 X =0l Ak&f e 140,000 280,000 2 140,000
02 Al -2 - 2XNSHLIISAL =0l AHat & 140,000 280,000 A 140,000
O2002F = ¥ EHSHoH=+ XL HOIKtat&
4,000,000,000& * 3.5% 140,000
601 M= SarE 4,000,000 3,850,000 150,000
02 Al -2 - 2XANLEISXHL=B=a 4,000,000 3,850,000 150,000
020024 ol & EH3Li=s7 KNLHIAI A
20,000,000,000& /5 4,000,000
EHS'OHOI"HIoHS 7 XX & & 1,341,000 1,329,000 12,000
311 XL =0IAt&f 141,000 179,000 A 38,000
02 Al -2 - RXANLIIS XS0l Kttt 105,000 140,000 235,000
OEHZ0H0I T o=+ X2 XHOI KHAaHEH( KIS D
3) 3,000,000,000& * 3.5% 105,000
04 SLHEINLS0IXH&E 36,000 39,000 A3,000
OEHSoH0ITlioi =+ X2 Ol Ktatat
1,800,000,000& * 2.0% 36,000
601 ML= =ate 1,200,000 1,150,000 50,000
02 Al -2 - FRNGNLIISAHL=BSa 200,000 1,000,000 800,000
OHHZ0H0ITi=E+ XM S (XNANL
12) 2,000,000,000& /104 200,000
04 SLEFRXNLS2S4E 1,000,000 150,000 850,000
OHZ0Imi=+ 234
5,000,000,000& /54 1,000,000
EHS"OIRILIOH L=+ XY & & 450,000 585,000 A 135,000
311 ML= 0IAt&E 450,000 585,000 A 135,000
03 SIS0l 450,000 585,000 A 135,000
OEZ Ol?ILIOH Do =S XIZH O Xp&het
9,000,000,000& * 5.0% 450,000
HE2IHH (et 66,860 60,200 6,660
I8 =& 4,200 4,200 0
el 2| 4,200 4,200 0
203 ¥R =& 3,000 3,000 0
04 RN2IHRFAH 3,000 3,000 0
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